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In any scalene A ABC, the following relationship holds :
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Proposed by Dang Ngoc Minh-Vietnam

Solution by Soumava Chakraborty-Kolkata-India

b— —a)(b—c)2
+lmz—hZz 4 s(s —a) +° C) (s(s—a)—W)
‘wz - hZ N a)(b 92 _ | sG—a)(b-0?
a a s(s—a) bro? (S(S a) 2 )

s(s a) 4s2—4sa+a? (2s—a)?
_ 4 + _ * 4a? _ * 4a?
s(s a s(s a) s(s—a) 2 2 - _s(s—a) _

_ 4 (b+o)t :>4m§l—h§l_1 b+c d ;
= |Tes? = a)? WEh 2 e and analogs

cyc

Agamcyc<f ﬂ) (f ﬂ) Zra+ar Z\/(s—b)(s—c)

Z:\/s(s —a)(s—b)(s —c). =2

s(s—a)

o J(s—b)(s—0)
b+c Ty b+c
= ——— > (2) and
czyc:w/s(s —a) Zczw:(f \/7> w/s(s— a) o

flnallyz ZN_ z w. %'Z%_}(B)

cyc cyc cyc cyc

@@= [ ZZ<J'T" f)
2

cyc cyc




